


CLSECTIVES

DoWw e eleial wlnget s

nese

E&eg

e impact of expansionary e

fi sy on the

t 86?1@(”&3"' fiscal polic

fiscal policy
+ federal budget

esonomy

Janr

« {iscal

yoal

. ldentity the limits of fiscal policy,  Goals

ropriations bill

Limits

e gxpansionary policy

e contractionary policy

« INorease anonomic muwli

1o e difficutty of changing
spending levels

e

B o v s s om0 s g 0%

. e : o U : -
b Economics and YOU Does your family have a household
budget? Or h"iVC you ever ﬁried o budgﬁ.t your own money? Either way,
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) 3 mW j ney you
have ceming in and how muc h you have Your goal is to get
those two figures in line. But it’s not easy. Sometimes it requires giving
something up. Somemmesmalthough you try to avoid it—it may even
require boxrowmg money. No matter what, making the plan takes time.
Qomebody has to sit down with a calculator and a stack of bills and a
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w, imagine how m ild rake if your expenses
d $3.1 trillion a year. Suppose everyone in the house had to agree on
; e itemn in the budget, and you had to send it to someboav else
al okay. Now you have an idea what the U.5 ent

> before it can .&;g;}@,z}d your tax money.
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o fiscal policy the use of
i government spending

and revenue collection to
‘\‘ influence the economy

federal budget a
written document
estimating the federal
government’s revenue
and authorizing its
spending for the
coming year

fiscal year any
12-mmonth period used
for budgeting purposes

year to put together a

President?

@Be2 FISCAL POLICY

Federal agencies send raqnes’cs for money
to Office of Management and Budget

The government’s taxing and spending
decisions are shaped both by budgetary
needs and by fiscal policy.

Fiscal policy is the use of government
spending and revenue collection to influ-
ence the economy. Fiscal policy is a tool
ased to expand or slow economic growth,
achieve full employment, and maintain
price stability. The federal government
makes key fiscal policy decisions—how
much to spend and how much to tax—each
year when it establishes the federal budget.

The federal budget is a written docu-
ment estimating the federal government’s
revenue and authorizing its spending for
the coming year. Like any organization’s
budget, it lists expected income and shows

exactly how the money will be spent.
The federal government prepares a new
budget for each fiscal year. A fiscal year is
d” used for budgeting

Congress and the White House work together over the course of the

federal budget.

§. Who takes the first step in the budget process?
3 2. What happens to the proposed budget if it is vetoed by the

purposes. It is not necessarily the same as
the January-to-December calendar year. The
federal government uses a fiscal year tha
runs from October 1 through September 30,

The federal budget takes about
18 months to prepare. During this time,
citizens, Congress, and the President
debate the government’s spending priori-
ties. There are four basic steps in the
federal budget process.

Agencies Write Spending Proposals
The federal budget must fund many offices
and agencies in the federal government, and
Congress cannot know all of their needs. .
So, before the budget is put together, each
federal agency writes a detailed estimate
of how much it expects to spend in the
coming fiscal year.

These spending proposals are sent to a
special unit of the executive branch, the
Office of Management and Budget (OMB).
The OMB is part of the Executive Office
of the President. As its name suggests,
the OMB is responsible for managing
the federal government’s budget. Its most "
important job is to prepare that budget.

The OMB reviews the federal agencies’
spending proposals. Representatives from:
the agencies explain their spending pro-
posals to the OMB and try to persuade the
OMB to give them as much money as they
have requested. Usually, the OMB gives.
each agency less than it requests.

The OMB then works with the President’s
staff to combine all of the indivic
budgets into a single budge
document reveals the I
spending plan for the co
President presents the budget to C
Ta

e Febriary
Qr repruary.

The number of che

[ (B e 1 " d Ny Y
e Presiaent's aget depu

h k.

ip bety een the Presidentand Cong
Congress carefully considers, debates, and
modifies the President’s proposed budget
For help, members of Congress rely of

-essional Budge
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sales agent
® Tax examiner
e Bookkeeper

appropriations bill
a bill that authorizes
a specific amount

of spending by the
government

B4 FISCAL POLICY

Possible Careers
o Loan counselor
- Payroll clerk

o Securities & commodities

e Account collector

Profile: Accountant and Auditor

Duties:

of certain business decisions
e prepare individual income tax returns

e advise clients about tax advantages and disadvantages

e audit clients’ financial statements and inform investors

and authorities that the statements have been correctly

prepared and reported
Education:

e hachelor’s degree in accounting or a related field. Some

employers prefer applicants with a master’s
Skills:

e aptitude for mathematics
and ability to analyze
facts and figures quickly

* ability to work with pecple numbet

e familiarity with basic as well as

accounting software financial

e high standards of integrity growth.

Office (CBO). Created in 1974, the CBO
gives Congress independent economic data
to help with its decisions.

Much of the work done by Congress
is done in small committees. Working at
the same time, committees in the House of
Representatives and the Senate 'aual}' ze the
budget and hold hearings at which agency
officials and others can speak out about
the budget. The House Budget Committee

hyv Conoress

and Senate Budget Comumittee combine
their work to propose one initial budget
1

resmuﬁon, which must ’oe adopted by
May 15, before the beginning of the fiscal
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year. This r (ﬂOiumm is not infende
final. It gives initial estimat
and spending to guz@e the legislators as

ontinue workm@ on the bud& et.

September 15, ai‘tc

pass any new bills that ’wuui | spend more

money than the budget resolution allows.
Pma}iy, the Appropriations Committee

L 1 1 e 1 M oot . P T
of each house submits bills to authorize
specific spending, based on the decisions
Congress has made. By this time, the new

degree.

Median Annual Salary:
¢ $57,060 (2007)
Future prospects:

e An innrpmp in ’fhe

fiscal year is about to start and Congress
faces pressure to get these appropriations
bills adopted and submitted to the President
qmcklv before the previous year’s funding -
ends on September 30. If Congress cannot
finish in time, it must pass short-term
¢ ney SpC?ds”g lnn—xo!m—‘nn ltnown as
“stopgap funding” t
running. If Congress
cannot even agree on

overnment “sh

snu

ep the ZOVe ernment
nd the President
temporary funding,
and all but

uts dn\uﬂ
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Congress
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P ;zﬁsxdcm vetoes any of the bi 32 C

CHECKPOINT What two offices help the
President and the Congress make budgef
decisions?
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Government officials who take part in the

pudget process debate how much should be

*SDQL’E[ (9291
or education. |
<rould

woniich

sovern-
ment s
heln in
eCONOMY
lowered o he

taxes cart

3 rf;fm e OF

that tries to incs
nufr)m m known as expansionary pol

iscal policy intended to decrease output
called contractivnary poii y By care-
fully choosing 1o follow expansionary o
contractionary fiscal poha‘v, the fedcrai
government tries to make the economy
run as smoothly as possible.

y,r;} icy

v

Governments use an ex pmisif;:’r; y fiscal
policy to raise the level of output in the
cconomy. That is, they use expansionary
policy to encourage growth, either to try
to prevent a recession or to move the
cconomy out of a recessin

Chapter 12 that a recession is the part of
the business cycle that occurs when output
declines for two quarters, or three-month

Try oynnnd th
P DApT LT

periods, in a row. Expansionary fiscal

policy involves either increasing govern-

ment spending or cutting taxes, or both,
If the Gdi; al

government INcreases
ite spe or buys more goods and

ffregzaic ae cmand,

supply, |
of goods and sers
tirms will hire more wor
short, an mcrease in demand will
lowe Lmunp%uyf nent an d to an muc

. :
do this,

1 ke h;&;ﬁcr govern-
ment fpendm'f to encourage economic
expansion. If the federal government cuts
rﬁxcgs individuals have more money to
spend, and businesses keep more of their
profits. Consumers have more money to
spend on goods and services, and firms
have more money to spend on land, labor,

and capital. This spending will increase
demand, prices, and output.

enie o oo | NN vyl +1a
At some stages in the business cycie, tne

Low oulput High o

Totat output in the aconomy

CHAPTER

sypansionary policy
a fiscal policy used to
encourage economic
growth, often through
increased spending or
tax cuts

sedractionary poficy
a fiscal policy used
to reduce economic

decrease
igher taxes




GRAPH SKILLS
By cuiting spend-
ing, the government
can slow economic
growth.

4. Why would the
government want
to slow economic
growth?

How does lower
government
spending affect
equilibrium?

2.

.

pction Graph

For an-animated version
of this graph, visit
PearsonSchool.com/PHecon

Expand or
Contract?

You may be asked to take
part in a role-playing
game about the use

of expansionary and
contractionary fiscal
solicy.

s

To contract the economy, the government
buys fewer goods and services.

"C‘c‘;mpahkiés'ma’t”sen geédsftqt the government
‘have fower profits and less money available

to-pay worker

K

‘Workers and investors have less money to
spend in stores, on travel, and in restaurants.

v

 Decreased demand fends to cause lower
prices, forcing suppliers to cut production

~ The growth rate of the economy slovis.

tries to decrease aggregate demand, and by
decreasing demand, reduce the growth of
economic output. If contractionary fiscal
policy is strong enough, it may slow the
growth of output to zero, or even leadto a
fall in gross domestic product (GDP).
Why would the government institute
licies intended to decrease economic
> The government sometimes i

no

output
to slow down the economy because fa

growing demand can exceed supply. When
demand exceeds supply, producers must
choose between raising output and raising
ucers cannot expand produc-

[

ces,
s . -
Leit

ey

sill raise their pri

ST

GDP growth. A decrease i
spending leads to a decrease in aggregate
demand, because the government is buying
less than before. Decreased demand tends

@36 FISCAL POLICY

Effects of Coniractionary Fiscal PO“GV

prices

Price level

High

Higher\::):,\\i ),
higher prices% : s,
< /7
&

[Lower output, |

lower prices f

Py

Low
prices :

Low output High output

Total output in the economy

to lower prices. According to the law of
supply, lower prices encourage suppliers
to cut their production and possibly lay
off workers. Lower production lowers the
growth rate of the economy and may even
reduce GDP. This chain of events is the
exact opposite of what happens when the
government Increases spending. The govern-
ment uses the same tools to try o
the economy in both cases, but i d
ways, and with very different goals.
When the federal government raises taxes,
individuals have less money

money td

[T DS b .
their spending on lar
1
s

and capital.

As a result of thes es in demand,

suppliers of services tend to Cut |

“his slows the growth of GDP.
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§ pwo categories of expa
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reality,

and difficult to p




Increasing or decreasing the amount of
federal spending is not an easy task. As
you read in Chapter 14, many of the
spending categories in the federal budget
are entitlements that are fixed by law.
More than half of the federal budget is
set aside for programs such as Medicaid,
Social Security, and veterans benefits
before Congress even begins the budget
precess. The government cannot change
spending for entitlements under current
law. Also, it must continue to pay the
interest on the national debt. As a result,
significant changes in federal spending
generally must come from the smaller,
discretionary spending part of the federal
budget. This gives the government less
leeway for raising or lowering spending.

Governments use fiscal policy to prevent
big changes in the level of GDP. Despite
the statistics, however, it is difficult to
know the current state of the economy.
As you read in Chapter 12, no one can
predict how quickly the business cycle will
move from one stage to the next, nor can
anyone identify exactly where in the cycle
the economy is at any particular time.

ire economic perfs

% g if economists forecast well, then
the lag would not matter. They could iell
Congress in advance what the appropriate
’ﬁsra! policy is. But economists do not fore-
ast well. Most economists, for example,
uadiy tnder predmteﬂ both the rise in

ess0r of economics at

s

Brown University

Although changes in fiscal policy affect
the economy, changes take time. Once
government officials decide when and how
to change fiscal policy, they have to put

these changes into effect within the federal
budget, which itself takes more than a year
to develop. Finally, they have to wait for
the change in spending or taxing to affect
the economy.

By the time the policy takes effect, the
economy might be moving in the opposite
direction. The government could propose
massive public spending on highways in
the middle of a recession, only to have
the economy recover before construction
begins. In cases like this, fiscal policy

would only strengthen the new trend,
instead of correcting the original problem.
If the government continued to spend
money freely on highways in the middle of
a recovery, it could lead to high inflation
and a labor shortage.

The President and members of Congress,
who develop the federal budget and the
federal government’s fiscal policy, are elected
officials. If they wish to be reelected, they
must make decisions that please the people
who elect them, not necessarily decisions
that are good for the overall economy.

For example, government officials have
an incentive to practice expansionary fiscal
policy by boosting government spending
and lowering taxes. These actions are
usually popular with voters. Government
spending benefits the firms that receive
government contracts and the individ-
uals who receive direct payments from
the government. Lower taxes leave more
disposable income in people’s pockets.

On the other hand, contractionary
fiscal policy, which decreases government
wanumv Or raises taxes, is often unpop-
xpm t

Y o7 ﬂqg
ncome is reducec i or cut off,

I

11CS

ay higher taxes, ur

. MY | Pt
Ia SpeCIiic, nigniy

g is very difficult
do. For examp{e if‘ the federal government
is pursuing contractionary policy, state and
ideally, pursue
a similar fiscal policy. Yet, state and local

O

focal gavernments cshonld.

CHAPTER 15
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¥4 Guiding Question
1. Use your completed table to answer

governments may be pursuing different
fiscal policies than the federal government.

For example, after the federal govern-
ment cut income taxes in 2001 and 2003,
many state and local governments raised
income and property taxes to close budget
deficits and avoid deep spending cuts. The
federal government was willing to cut
taxes and run a deficit in poor economic
times, but most state and local govern-
ments were legally forbidden to do so.

Businesspeople, politicians, and econo-
mists often disagree about how well the
economy is performing and what the goals
of fiscal policy should be. Also, different
regions of the economy can experience
very different conditions. California and
Hawaii may have high unemployment
while Nebraska and Massachusetts face
rising prices and a labor shortage.

In addition, in order for the federal
government’s fiscal policy to be effec-
tive, it must also be coordinated with the
monetary policy of the Federal Reserve.
You’ll read more about monetary policy

i th
in the next Cuaptef.

Cyitical Thinking

Even when all of these obstacles are
overcome, governments must recognize
that the short-term effects of fiscal policy
will differ from the long-term effects. For
example, a tax cut or increased govern-
ment spending will give a temporary boost
to economic production and to employ-
ment. However, as the economy returns
to full employment, high levels of govern-
ment spending combined with increased
market spending will lead to increased
inflation and higher interest rates.

Similarly, an increase in taxes or fees or
a decrease in government spending may
“cool” the economy and lead to a reces-
sion. However, in the long run, reduced
government spending will allow other
types of spending to increase without
risking higher inflation. If there is more
private investment spending, this could
lead to higher economic growth in the
long run. In this way, slow growth or even
recession in the short term can lead to
prosperity and more jobs in the future.

% CHECKPOINT Why is it so difficult for
government to change spending levels?

7. Analyze (8) What are the four basic

To continue to build a

Essenﬁal @?ﬁ%ﬁgng response to the Essential
e SUrnar T Question, go to your
Essential Questions Journal.

10, Creating a Graph Use the informa-
tion from the chart below to create a

this question: What are the goais
and limits of fiscal policy?
xtension Like the government,
individuals benefit from budgets.
Plan your coming month’s expen-
ditures. Start with your current

\)
i

Sy b Tey
income. List your ne

ditures. What, if anythin
scrationary spending?

, is left for

A

o

n
s

(1]
<
g
7
[
>
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&
i
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;zx
T

398 FISCAL POLICY

Fut =1a % -
sgsary expen

steps in the federal budget process?
{b} What is the advantage of having
both the President and Congress

involved in the budget process?

. Identify Effects (a} |dentify entitle-

ment programs. {b} How do they
affect creation of the federal budget?

. Solve Problems Which fiscal policy

strategy do you think policymakers
would use in each of these scenarios

line graph showing consumer confi-
dence in January of each of the years
shown. {a} In which two-year period
did consumer confidence rise the
most? {b) What was the percent of
decline in consumer confidence over
the period from 2000 through 20057
Visit PearsonSchool.com/PHecon
for additional math heip,

2000 2001 2002 2003 2004 2005 2006, 200
1447 1157,97.8 788 97.7 105110

T,

SOURCE: wyww. pollingreport.con



BECONOMIC BMCTIONARY

OBJECTIVES

1. Compare and contrast classical As you read the section, look for
sconomics and Kevnesian economics, ¢ the definitions of these Key Terms:

2. Explain the basic principles of supply- ¢ e classical economics

side ecoromics. : e productive cagacity
3. Describe the role that fiscal policy : e demand-side economics
has piayed in American history. ¢ e Keynesian economics

= mnultiplier effect Classical

Supply-side

e

| Keynesian
= gutomatic stabilizer sconomics || (demand-side) ; sconomics
. . | economics |
e supply-side economics regulate §@ le
themselves | §
i

Bguge #3p iy . . T classical economics
b Economics and YoU  Look at the picture of the two children on  56hool of thought

this page. They are poor and hungry, and the family breadwinner is out pased on the idea that
of work. Even if you have never been in a situation like this, it’s probably  free markets reguiate
not hard to imagine how these children feel. And the time is the Great ~emselves
Depression, so there are millions of families facing the same problem.

“WHY CAN’'T YOU GIVE MY DAD A JOB?” But who is the boy
asking? A factory owner? Thelocal supermarket? Orishe asking the govern-
ment itself? Would you expect the government to ny’”ld large amounts
of money to give your tather or mother—as well as thousands of other
people—a job?
Principles in Action Nowadays many of us are used to the idea that the

+ vv" it o oower to s fmiilare the ecconomy 13
governme it 1Tl ig; t use its bybilulix& power to stilmuiate the economy. But
+h 2 ng A 3 i
at the time of the Depression, this was a radical new idea. And today,

there are plenty of people who think that the:re are better ways the govern-
ment can stimulate the economy than by spending. In this section, you

t fiscal policy options that the government
an pursue. In the Economics & You feature, you will see how tax policy

11
cct your income and the services you use.

will look at two very differen

r\
=

Can ax

uuum you nave re :

market, pec t in their own self interest, causing
- 1
i

tel

1vs return to

e rf} MEH 2

nated econoi

Some aspects of classical economic thought are

and government policies.
still widely followed today.

The Great Depression, which E?ﬁgan in 1929, challenged the classical
theory. Prices fell over sev o demand should have msrﬁased o .
Y ) ha & These chi e taking partin a
enough to stimulate productzon as consumers took advantage of 10w protest march of the 1 unemployed during

)

prices. Instead, demand also fell as people lost their jobs and bank fm!m es  the Great Depression.

CHAPTER 15 SECTION 2 22@




productive capacity
the maximum output
that an economy can
sustain over a period of
time without increasing
inflation

demand-side
economics a school
of thought based on
the idea that demand
for goods drives the
economy

. Keynesian
Economics

wiped out their savings. According to clas-
sical economics, the market should have
reached equilibrium, with full employ-
ment. But it didn’t, and millions suffered
from unemployment and other hardships.
Farmers lost their farms because corn was
selling for seven cents a bushel, beef for
two and a half cents a pound, and apples
for less than a penny. Still, many people
were too poor to buy enough food for
their families.

The Great Depression highlighted a
problem with classical economics: it did
not address how long it would take for the
market to return to equilibrium. Classical
economists recognized it could take some
time, and looked to the long run for equi-
librium to reestablish itself. One economuist,
who was not satisfied with the idea of
simply waiting for the economy to recover
on its own, commented, “In the long run
we are all dead.” That economist was John

E AR

Maynard Keynes (pronounced CANES).

 CHECKPOINT What event challenged the
dominance of the classical economics
school of thoughi?

High
oulput
Productive
capacity

.
=
=9
B
=
=]

Low

outpat

H SKILLS

racession or depression,
bUsiNesses and consumers
do not demand as much as
the economy can produce.
prmls argued that
(Y ‘mmeni’ spending
g the economy up t

WIS
oductive

- )
&

o

John Maynard Keynes added government spending to the classical

model of demand.

. What role did Keynes envision for

government in the economy?

2, How might this government intervention affect the business cycle?

400 FISCAL POLICY

Keynesian Economics

British economist John Maynard Keynes
developed a new theory of economics tq
explain the Depression. Keynes presented
his ideas in 1936 in a book called The
General Theory of Employment, Interest,
and Money. He wanted to develop g
comprehensive explanation of macro-
economic forces. Such an explanation,
he argued, should tell economists and
polmcxans how to get out of economic
crises like the Great Depress1on In sharp
contrast to classical economics, Keynes

wanted to give government a tool it could -

use immediately to boost the economy in
the short run.

Classx:a1 economists had always looked

at how the equilibrium of supply and

demand applied to individual products In
contrast, Keynes focused on the workings
of the economy as a whole.

Keynes looked at the productive capacity -

of the entire economy. Productive capacity,
often called full-employment output, is
the maximum output that an economy
can sustam over a pr:riod of time withouz

aftuai

”]‘fort of its productive capacity?
P pacity
Keynes argued that the Depression was

gontmumg because neither consumers

ﬂ[}‘\;/\’ O S ﬁPﬂ{‘{

it
enough to cause an increase in produc
tion. After ali, why would a company
rend mo increase production when
demand f«it‘»r 'ty products was fa ng3 Hmfv

1 . w1
O CONSUImers \i%iiillkaﬁiu/

they had barely

g

The only way to end tne

B

she would be 1o

st cle m::m.é

Of 1ves

‘Vﬁffi ne g

economy developed a
as demand-si
emse !‘/C’S iql’”) %.’;V' o i

spend enough to spur ut,nmmi a'ﬂ.d revi
talize production?

gjz(j}% n{' Y‘iﬁ;"ﬂlgh’{
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Al
Keynes thought that the spender should be
the federal government. In the early 1930s,
only the government still had the resources to
spenc 1 enough to affect the whole economy.
The government could, in effect, make up
for the drop in private spending by buying
goods and services on its own. This, Keynes
argued, would encourage pmdummn and
increase :mp;\;g ment. Then, as people went
back to work, they would spend their wages
on more goods and services, leading to
even higher levels of production. This ever-
expanding cycle would carry the economy
out of the Dcprcssxon Ozre the crisis was

and reducp its Opendl 1g.

These ideas form the core of Keynes’s
approach to resolving problems with
the economy. Keynesian economics uses
demand-side theory as the basis for
encouraging government action to help the
economy. Keynesian economics proposes
that the government can, and should, use
fiscal policy to help the economy.

Keynes argued that fiscal policy can be
used to fight the two fundamental macro-
economic problems These two opposmg
problems are periods of recession and
periods of inﬂation

The federal government, Keynes argued,
should keep track of the total level of
spending by consumers, businesses, and
government. If total spending begins to
fall far below the level required to keep
running at full capacity,
should watch out for the
eS80,

the eConomy
"L’J@ S’()VCH“TK‘H'[
f.)()as‘

Tna ern
increasing its own spending until
ing by the pr rivate sector returns

g)uv ment  can respona py

you read in
the previous section, raising governmer
spending and cutting taxes are expan-
sionary fiscal policies.

After he was elected President in 1932,
Franklin D. Roosevelt carried out expan-
3101131"}7 fiscal pohaes His New Deal put
people to work—whether planting forests,

building dams and schools, or painting
murals. The federal budget paid for all
these programs.

Many people argue that instead of
creating new jobs such public works
projects only shift employment from the
private to the public sector. The dispute
over Keynes’ ideas is reflected today gener-
ally in the philosophies of the two political
parties Republicans generally have been
iated with using tax cuts to stimu-
late the economy. Democrats, generally,
have favored more expansive government
programs to stimulate the economy.

duce its severit jy., The
inflation e I
y ;cduur%
ese actions

U\
O
<
<

decrease

Y c&ku()u g1 difficult to contr ui

emely powerful tool. The key
to its power is the mu]tip]ier effect. The
multiplier effect in nscal policy is the 1d
hat every one dollar change in
poiic;ym—whether an increase in spending
or a decrease in taxes—creates a change

is an extr

L

CHAPTER 15

4 During the Great
Depression, the
f‘ivilgap O anearuntinm

oot vaului

Corps {CCC)

employed more than
2 million young men
in jobs such as
planting forests and
digging irrigation
ditches. How did the
CCC meet the goals
of Keynesian
economics?

Keynesian economics
a school of thougm

multiplier effect the
idea that every one
dollar change in fiscal
policy creates a change
greater than one dollar in
the national income

SECTION 2 401
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Willing to Sacrifice

FISCAL POLICY PREFERENCES
What steps are voters prepared to accept to reduce the

The Wall Street Journal

‘rustrated
$1.5 trillic

symbol of parai sisin Washmgton
appear muuamngzy willing o take
drastic steps to address the red ink.
Leonard Anderson, 56, an engineer
and a Republican, said he would accept
a national sales tax to raise revenue.
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if they produ
:>‘pcnumg cuts or *a;x inc
reinforce lawmakers’ anxiety, voters
remain divided about what ought to

be done.
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At current levels, the federal deficit
exceeds all defense and nondefense
spending at Congress’s discretion
by $110 million. In other words,
lawmakers could eliminate the entire
military, all federal education, agri-
cultural, housing programs, federal
prisons, the CIA, FBI, Coast Guard
and border patrol, and the nation
would still be in the red.

Half of the current deficit stems from

falling tax revenues and 1 5ing sp “ndmg

sion, such as un pk\yment insurance,
food stamps and the Wall Street bailout.
The administration projects that the
deficit will shrink as these programs
end and the economy recovers.

But then long-term problems kick
i \X/,,h the baby boom gmmmon
the de a( it wu? ?wmn rising

piyving Economic Pring
Acr f:h 1 to this article, it will be
d

b

to reduce the federal f;mnﬁ‘t
Hew can changes in spending and
taxation each affect budget deficits:
or surpluses?



much greater than one dollar in the national
income. In other words, the effects of
changes in fiscal policy are multiplied.
Suppose the federal government finds
that business investment is dropping. To
prevent a recession, In the next budget
the government decides to spend an extra
$10 billion to stimulate the economy.
How will this affect the economy?
~ With this government spending,
_demand, income, and GDP will increase
by $10 billion. After all, if the govern-
ment buys an extra $10 billion of goods
‘and services, then an extra $10 billion of
~goods and services have been produced.
However, the GDP will increase by more
than $10 billion. Here’s why:
The businesses that sold the $10 billion
“in goods and services to the government
have earned an additional $10 billion.
These businesses will spend their addi-
tional earnings on wages, raw materials,
and investment, sending money to workers,
other suppliers, and stockholders. What

will the recipients do with this moneyp
They will spend part of it, perhaps 80

EA S A% l_l(/ll 5 y\u 1XaiJ°
percent, or $8 billion. The businesses that
benefit from this second round of spending

will then pass it back to households and
other businesses, who wiH again spend

80 percent of it, or $6.4 billion. The next
round will add an add xtlonai $5.1 billion
A

When all of these rounds Qf spending are
added up, the initial government spending
of $10 billion leads to an increase of about
$50 biLi@n iﬂ GDP. The mu‘tiplicr effe.f:t

‘fhe economy automatzcalfy
Figure 15.5 shows how real GDP in the
United States changed each ve

1930 to 2009. Pf}OI to World War II,
there were much larger changes in GDP

~
ar trom
[=R A R 0.0 84

from year to year than after World War IL.
Although GDP still fluctuates, these fluc-
tuations have been smaller than they were
before the war. Economic growth has been
much more stable in the United States in
the last 60 or so years.

Why did this happen? After the war, federal
taxes and spending on transfer payments—
two key tools of fiscal policy—increased
sharply. Taxes and transfer payments, or
transfers of cash from the government to
consumers, stabilize economic growth.
When national income is high, the govern-
ment collects more in taxes and pays out less
in transfer payments. Both of these actions
take money away from consumers, and
therefore reduce spending. This decrease
in spending balances out the increase in
spending that results from rising income in a
healthy economy.

The opposite is also true. When income
in the country is low, the government
collects less in taxes and pays out more in
transfer payments. Both actions increase
the amount of money held by consuimers,
and thus increase spending. This increase
in spendm balances out the decrease in

ending resulting from decreased income.

Annual Change E{nﬁ?; 1930-2009

Percent change in GDP

SOURGE: Bureau of Economic Analysis, Historical Statistics of the United !

The "z**‘ed S tates experienced strong economic swings before

World War Ui,

1. How do the years after the war show the effect of automatic
stabiiizers on the economy?

2. Why did the 1930s see the largest percent losses in GDP7?
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Laffer Curve

High
revenues

Tax revenues

Low |/
revenues 4

0%
Low taxes

i
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100%
High taxes

50%

Tax rate

The Laffer Curve lllustrates the effects of high

taxes on revenues.

4. According to the Laffer curve, what do
both a high tax rate and a low tax rate

produce?

2. Why do higher tax rates sometimes cause

revenues to fall?

antomatic stabilizer a

supply-side
BEOROMICS a school
of thought based on
the idea that the supply
of goods drives the
sconomy

]
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For an animated version
of this graph, visit

PearsonSchool.com/PHecon

Taxes and transfer payments do not
eliminate changes in the rate of growth
of GDP, but they do make these changes
smaller. Because they help make economi
growth more stable, they are known as
stabilizers. Policymakers do not have to
make changes in taxes and transfer pay-
ments for them to have their stabiliz
effect. Taxes and most transfer payments
are tied to the GDP and to personai income,
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CHECHUPOINT How did Keynes favor
ending the Great Depression?

Supply-Side Economics

Another school of economic thought
promotes a different direction for fiscal
policy. Supply-side economics is based on
the idea that the supply of goods drives
the economy. While Keynesian economics
tries to encourage economic growth by
increasing aggregate demand, supply-side
economics relies on increasing aggregate
supply. It does this by focusing on taxes.

Supply-side economists believe that taxes
have a strong negative impact on economic
output. They often use the Laffer curve,
named after the economist Arthur Laffer,
to illustrate the effects of taxes. The Laffer
curve shows the relationship between the
tax rate and the total tax revenue that the
government collects. The total rev
depends on both the tax rate and
health of the economy.
suggests that high tax rates may not bring
in much revenue if they cause i
activity to decrease.

Figure 15.6 depicts the Laffer curve.
Suppose the govemmem imposes a tax
on the wages of workers. If the tax

.l lLb La

n t

ate is zero, as at pomt a on
the government will collect no revenue,

although the economy will benefit from

the graph,

1

the lack of taxes. As the government
raises the tax rate, it starts to collect some
revenue. Follow this change in Figure 15.6
by tracing the curve from no taxes at

point a to 50 percent taxation
From PO!.ML i
rising

from

Q

tax ‘E'r"‘"\'S aiscouragt
]

4\)iu WOT ; g
in the evtreme case of a 100 ‘p@ﬁ:i:z’if
rate, no one would want to work! In

t}“ a;sv, shown at point ¢ on the curve, the
government would cotlec :




for goods. Just as Keynesian economics
The heart of the supply-side argument js  predicted, the additional demand for
that « tax cut increases total employment ~ goods and services moved the country
so much that the government actually  sharply out of the Great Depression and
collects more in taxes at the new, lower  toward full productive capacity.

tax rate. Suppose the initial tax on labor After World War II ended, Congress
is $3 an hour, and the typical worker  created the Council of Economic Advisers
works 30 hours per week, paying a total ~ (CEA). Made up of three respected econo-
of $90 in taxes each week. If the govern- ~ mists, the CEA advised the President on

P |

ment cute the tax on labor to $2 an hour,  economic policy.
and the worker responds by working 50
hours per week, the worker will pay $100
in taxes a week, an increase of $10.

Actual experience has proven that while
a tax cut encourages some workers to
work more hours, the end result is a
relatively small increase in the number of
hours worked. In the example above, if the
tax cut increased the hours worked from
30 hours to 35 hours, the worker would
pay only $70 in taxes ($2 per hour times
35 hours), down from $90 ($3 per hour
times 30 hours). In general, taxpayers do
not react strongly enough to tax cuts to
increase tax revenue.

Between 1945 and 1960, the U.S. economy
was generally healthy and growing, despite
a few minor recessions. The last recession
continued into the term of President John
F. Kennedy, with unemployment reaching
a level of 6.7 percent.

Sometimes, when the

(f CHECHPOINT How does the theory of e P~ economy is overheated;
supply-side econemics link taxafion to : 9. the government resorts t
employment levels? v ‘ [ increasing taxes on . -

' . ' , individuals. Tax increases
] H g - J can be very painful

Fiseﬁ! ?@é&@i{ i - ¢ : because they leave you

American History i - with less money to

) » - L Shie ’ spend on goods and

As you recall, Keynes presented his ideas at 8 services or to save for

a same time when the world economy was
engulfed in the Great Depression. President
Herbert Hoover, a strong believer in clas-
sical economics, thought that the economy
was basically sound and would return to
equilibrium on its own, without govern-

These tax increases do

more than help stabilize the
. . o o economy and move it on to
ment interference. His successor, President the next phase of the
Franklin D. Roosevelt, was much more business cycle. They aiso
provide the government
with more resources fo
pay for a wide variety of
public services.

willing to increase government spending to
help lift the economy out of the Depression.

ment spending increased dramatically.
The government spent |

money to feed soldiers as
with everything from warplanes to rifles
to medical supplies. This money was  gave it or spend it?
given to the private sector in exchange

o)
Oy

equip them ) ) :
' 4 Sometimes the government lowers taxes to stimulate the economy.

If you had a few more dollars each week from a tax cul, would you
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Kennedy’s chief financial policy advisor,
Walter LIellﬁr thought that the economy
was below its groductwe capacity. He
convmcvd Kennedy that tax cuts would
mand and bring the economy
productive capacity.

15,7 shows, tax rates were
extremely high in the early 1960s. The
highest mdmdual income tax rate was
about 90 percent, compared with about
0 pm‘(,(jpf in 2007. Kennedy proposed tax
. both because he agreed with Hel
amL because tax cuts are popular.
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rost

Ph.D.,
California at Berkeley

Claim to Fame: Wrote about the
~  dangers of an affluent society

helped develop the social welfare programs
that lay at the heart of President johnson’s
yision of a Great Society.

fiscal policy in place,
and inflation rates soared. Whe Ron'ﬂd
Reagan became President in 198

vowed to cut taxes
“anti-Keynesian
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former professor of economics. Friedman
s pﬁOth individual freedom and pushed

- more laissez-faire policies—hallmarks
of classical and ‘npniy~side ECOTOMICS. 0o , ’
You VV?” read a Wf‘m ile oof Fri ledman in the f lj
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I the worst financial crisis since the Great

{ Depression. A number of major financial : ~
istitutions failed, Credit became harder Tax rates varied widely throughout the last century.
to get, consumer gpending dropp@dj and 1. When were top marginal income tax rates at their highest?
un@mp]oymﬁnt rose. 2. What has been the trend in tax rates since 19857
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OBJECTIVES

1. Explain the importance of balancing
the budget.

2. Analyze how budget deficits add to
the national debt.

3. Summarize the problems caused by
the national debt.

4. ldentify how political leaders have
tried to control the deficit.

budget surplus a
situation in which
hudget revenues exceed

expendifures

revenues

408 FISCAL POLICY

If you fail to pay the credit-card bill in full each month, the high interest

ECONOMIC DICTIONARY

As you read the section, look for
the definitions of these Key Terms:
® budget surplus

e budget deficit

e Treasury bill

e Treasury note

e Treasury bond

e national debt

» crowding-out effect

Causes Event Effects

Budget
Deficit

b Economics and You 1 you have used a credit card, you might

have some idea about how easy it is to spend money that you don’t have.

rate may mean that the amount you owe just keeps increasing. Soon you
may face a mountain of debt.

The federal government is no stranger to spending more than it has.
You have been reading about how the government uses spending as a
fiscal policy tool to improve the economy.

Principles in Action As you will see in this section, unchecked soendmg
can lead to a soaring national debt. The How the Economy Works feature
shows how that debt resulted from numerous budget decisions. The ¢
this debt must be measured against the benefits of government spendin

.-A(D

osts of

The basic tool of fisca puh(,y is the federal budget. It is made up of two
fundamental parts: revenue (taxes) and expendltures (spending programs).
When the federal government’s revenues equal its expenditures in any
particular fiscal year, the federal government has a balanced budget.
In reality, as Figure 15.8 shows, the federal budget is almost never

balanced. Usuaﬂv. it is either runnmg a surplus or a deficit. A hudgeixk
surp!us occurs in any year when revenues exceed cxpenauures In oth

words, there is more money going into the Treasury than
it. A ﬁmﬁgﬁ% deficit occurs in any year when expenditures exceed

o
<
1
=
=
o
o
e

In other wmd there is more money coming out t of the Treasury than

This analysis

increases
expendlturea Wi } S

5 r‘nhm

Me Jeﬁ( it can grow or shrink because of forces beyond the government’s -
control. Surpimeg auu deﬁcns can be very large figures. The largest deficit,

in 2009, was nearly $1.8 trillion.



Wheu the government runs a deficit, it is
because it did not take in enough revenue
to cover its expenses for the year. When
this happens, r?‘ze ;{a’)vemmem must find
a way to pay for the extra expenditures.
There are two ha&qc actions the gover
ment can take to do so.

The government can create new money to
pay salaries for its d ‘

for citizens. Iradxti@naﬂy,

governments
simply printed the bills they needed.
Today, the government can create money
electronically by actions that effectively
deposit money in people’s bank accounts.
The effect is the same. This approach

works for relatively small deficits but can
cause severe problems when there are large
deficits. What are these problems?

When the government creates more
money, it increases the amount of money
in circulation. This increases the demand
for goods and services and can increase
output. But once the economy reaches full
employment output cannot increase. The

are more dolla
goods and servi

e deficits by printing
more money can cause hyperinflation.
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GRAPH SKILLS

Tel?

Budget deficits swelled in the early 2000s due to recession, tax cuts,
and defense spending.
1. In which of the years shown on the graph did the budget have a

surplus?

2. What was the dominant

mted States

Bonds”) allow
lend small

trend in deficits in the late 1990s?

investment over time.
Savings Borxds (“EE

millions of Americans to

amounts of money to the

federal government. In return, they earn

S T
interest on the

Other

normwmg are '

honds, Treasury
Donds., reasury
that é’v&wp FYYaATY

atu

?reasury note

Y

Federal borro

rtake more “ﬁméegts than it could

o X A TR
Uﬂus fOJ up to 30 years.

common forms of government
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ks or Treasury bill a
government bond with
a maturity date of 26

Vi/ i
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however, also has serious disadvantages.

' CHECKPOINT
wery that the

for expenditures thot exceed revenues?

Treasury bond a
government bond that
is issued with a term of
30 years

Whet is the most common
federal government pays
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National Debt as a Percentage
of GDP
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Note: Figures for the years 2010--2015 are projected.
SOURGCE: The Executive Office of the President of the United States, The Office of Management and Budget.
The Budget of the United States Government, Fiscal Year 2011. Historical Tables.
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1. Do you think budgets are in surplus, balanced, or in debt during

times of war?

2. Why does the natio
times of war?

i

3 Personai Finance
For tips on managing

i your own debt, see

- your Personal Finance

Handbook in the back

of the book or visit

Pearson$chool.com/PHecon

natisnal debi the total
amount of money the
federal government

owes o bondholders

nal debt as a pefcentage of GDP soar durin

[Us]

"é’%@ e National Debt

Like people, when the government borrows
money, it goes into debt. The national debt
is the total amount of money the federal
government owes to bondholders. £
year that there is a budget deficit and the
federal government borrows money to
cover it, the national debt will gr ow.

tment for individs

v <3H‘<::‘ a secur 118
. Because Hw Lmu ¢} Srates 1s

Many people are confused about the

difference between the deficit and the

debt. The deficit is the amount of money
the government borrows for one budger,
representing one fiscal year. The debt,
on the other hand, is the sum of all the
government borrowing before that time,
minus the borrowings that have been
repaid. Each deficit adds to the debt. Each
surplus subtracts from it.

In dollar terms, the size of the national debt
is extremely large. In 2008, it exceeded
$10.6 trillion! Such a large number can
best be analyzed in relation to the size of
the economy as a whole. Therefore, let’s
look at the size of the debt as a percentage
of gross domestic product (GDP) over
time. This can be seen in Figure 15.9.
Historically, debt as a percentage of GDP
rises during wartime, when government
spending increases faster than taxation,
and it falls durmg peacetime.

Notice how the pattern changed in
the 1980s, when the United States began
to run a large debt, even though the
country wasn’t at war. The debt was
in part a result of increases in spending
during President Ronald Rea
As you read in the previous section, the
Reagan administration also cut taxes.
The combined effect of hig bhei spending
and lower tax rates was
increased budget deficits.
borrowed billions of dollars to cover these
deficits, adding to the national debt. As a
result, the ratio of debt to GDP grew very
large for peacetime,

2
gan’e ta
gan’'s terms.

" CHECKPOINT To whom does the
government owe the national debi?
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businesses, attracted by the higher interest
rates and the security of investing in the
government, use their savings or profits to
pumhasc government bonds.

However, every dollar spent on a govern-
ment bend is one dollar less that can be
invested in private business. Less money
is available for companies to expand their
factories, conduct research, and develop
new products, and so interest rates rise.
This loss of funds for private investment
caused by government borrowing is called
the crowding-out effect. Federal borrowing
“crowds out” private borrowing by making
it harder for private businesses to borrow. A
national debt, then, can hurt investment and
slow economic growth over the long run.

The second problem with a high
national debt is that the government must
pay interest to bondholders. The more the
government borrows, the more interes
it has to pay. Paying the interest on the
debt is sometimes called servicing the
debt. Over time, the interest payments
have become very large. About the year
2000, the federal government spent about
$250 billion a year servicing the debt.
Moreover, there is an opportunity cost—
dollars spent servicing the debt cannot be
spent on something else, such as defense,
healthcare, or infrastructure

A possible third pro uie
foreign ownership of the national debt. The

The federal government
spends'more than it takes in
. and has o borrow money to
cover the deficit

CHART SKILLS

biggest holder of that debt is the United
States government itself. The government
uses bonds as a secure savings account
for holding Social Security, Medicare, and
other funds. But about a quarter of the
debt is owned by foreign governments,
including Japan, China, and the United
Kingdom. Some critics of the debt fear that

a country like China could use its large

bond holdings as a tool to extract favors
from the United States. Others disagree,
arguing that foreign states own too little
of the debt to cause any concern.

Some people insist that the national debt is
not a big problem. Traditional Keynesian
economists believe that fiscal policy is
an important tool that can be used to
help achieve full productive capacity. To
these analysts, the benefits of a productive
economy outweigh the costs of interest on
national debt.

In the short term, deficit spending may
help create jobs and encourage economic
growth. However, a budget deficit can be
an effective tool only if it is temporary.
Most people agree that if the government
runs large budget deficits year after year,
the costs of the growing debt will eventu-
ally outweigh the benefits.

& CHECKPOINT What are the problems of
ncz!ﬂng o nuge ﬂg!!@ﬂg' Qe&i"

Government horrowing tends 1o reduce private investment by taking
away some funds that could have been invested in private business.
Economists describe this phenomenon as the crowding-out effect.

4. Why do lenders put their money in government bonds rather then

use it for private investment?

2. What are some ways that private investors and banks deal with the

crowding-out effect?

CHAPTER 15

crowding-out effect
the loss of funds for
private investment
caused by government
borrowing

TION 3 411
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The National Debt is the amount of money the United States
government owes to the people and institutions who hold its
bonds, bills, and notes. In the past 30 years, the national
debt has grown enormously. Here is why the debt has grown.

Each year, the federal government has
to pay for hundreds of essential services,
from military protection to healthcare. Tax
revenues pay for most of these expenses.
But in most years, there is a gap between
revenue and expenditures.

Controiling the Deficit

During the 1980s and the early 1990s,
annual budget deficits added substantially to
the national debt. Several factors frustrated
lawmakers in their attempts to control
it. As we have seen, much of the

o

s ¢
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cally
’

mrg@ part o1 t
Lhaf must

ult to Cﬁaugc
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o bondholders. Finally,
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« often by

about t
mid-1980s

FES RS L

Concerns
the
the Gramm-R

*.ws;efi C to

udman-Hollings

Ongress
Act. This

law created automatic across-the-board
cuts in federal expenditures if the deficit
exceeded a certain amount. The automatic
nature of the cuts saved lawmakers from
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What causes the national debt to spiral?

To make up the gap, the ‘
government borrows money. it issues
Treasury bonds, bills, and notes. The
interest paid on this money becomes part
of the federal budget.

having to make difficult decisions about
mawlmai funding cuts. However, the
act exempted significant portions of the

budget (9 ich as interest payments and
many entitlement programs such as Social

o!md, that some
Hollings Act

d Gramm-Rudman- Houmgg
udget Enforcement Act created




How &hf Ec@m@mgww@?m

For an animated, interactive version of
g this feature, visit PearsonSchool.com/PHecon g

L H

As the government
borrows more, the stice of the
federal budget taken up by
interest payments grows. The
more interest, the greater the
gap between revenue and
expenses...and the greater
the gap, the more the
government borrows.,

Large deficits over a period of
years have caused the national debt
to spiral to enormous proportions.
However, economists differ on
whether this large debtis a

serious problem to the
U.S. economy.

Economic downturns

or external shocks such as natural
disasters may add unpianned costs

&F

L.

: Sheck Your Understanding
to the federal budget. This leads to Check Your Understanding
even more borrowing.

1. How does borrowing lead to greater

interest payments and greater debt?

2. How important do you think it is to
immediately reduce the national debt?

“pay-as-you-go” system ({(also known as

PAYGO). PAYGO required Congress to
raise enough revenue to cover increases
in direct spending that would otherwise
contribute to the budget deficit. This law
expired in 2002, but in 2007 the I m()use

and Senate res d PAYGO

red PAYGO in the
of special budger rules.
At various times, citizens a
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to require a balanced
balanced bud

force

3 amend vvwmu
the federal government to be more disci-
plined about its spending. Opponents said
that a constitutional amendment requiring
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a balanced budget w

CH\IF ?rxf«

government the flexibility it ﬁPﬁded to deal

with rapid changes in the economy.

The late 1990s brought a welcome reversal
of fortune. For the first time in thirty years,
the President and the Office of Management
and Budget were able to announce that the
federal government was running a surplus.

How did this happen? First, the new

budget procedures begun under President
Bush and extended wunder President

(“I%ma;* dié ‘min Congress mntra’)? thﬁ

s

The changeover fro
brought with it a different set of political

m deficits to surplus
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Security into the new century, provide
additional medical benefits to seniors, and
reduce income taxes.

However, the surplus was short-lived.
The end of the stock market boom, an
economic slowdown, and a new federal
income tax cut reduced federal revenues,
The terrorist attacks of September 11
2001, dealt a double blow to the federal
budget by disrupting the economy and
imposing a new set of defense costs.

In response, the federal government
returned to deficit spending. The federal
budget continued to show a large deficit
for the next several years, due in part
to counterterrorism efforts and the very
costly wars in Afghanistan and Irag. In
fiscal year 2008 alone, the President’s
funding requests for the war on terrorism
approached $200 billion.

The long-term outlook for the federal
4 Created in 1989, the budget is uncertain. Funding for stimulus
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fiscal policy, p. 392

federal budget, p. 392
fiscal year, p. 392

appropriations bill, p. 394

expansionary policy, p. |

5 S e - contractionary policy, o. 595
; ﬁcw eﬁecﬁwe is ﬁ&cm policy ary policy,

as an economic tool?

classical economics, p. 399
nroductive capacity, p. 400
demand-side economics, p. 400
Keynesian economics, p. 401

Effects of Expansionary Fiscal Policy multiplier effect, p. 407

automatic stabilizer, p. 404

To expand the economy, the government buys

more goods and services. supply-side economics, p. 404
v ! budget surplus, p. 408
_ W budget deficit, p. 408
Companies that sell goods 1o the government Treasury bill, p. 409
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Key Terms and Main ideas

To make sure you understand the key terms and main ideas
of this chapter, review the Checkpoint and Section Assess-
ment questions and look at the Quick Study Guide on the
preceding page.

1. Compare (a) Describe the
fundamental differences
between classical economics
and Keynesian economics.
{b} Keynes suggested
that building pyramids
was good for the
economy of ancient
Egypt. Why would Keynes have suggested this?

{c} Provide a similar example in our society for the building
of the pyramids. Explain your answer. )

2. Main ldeas (a) Make a list of ways in which government
fiscal policy affects your daily life. {b} Which aspects of
fiscal policy have the greatest effect on you? Explain.

3. Infer (a) How do automatic stabilizers affect our economy?
{b} What would our economy be like without them?

4, Analyze (a} In your own words, describe the crowding-out

effect. (b) Explain how it can influence economic growth

over the long term.

!:waéuam !fﬂ What are the benefits and drawbacks of a

balanced buuget amendment? (b) Would you support

such an amendment? E / OF why not?

6. Main Ideas {a) Huw is
policy? (o) How
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Q@mparmg Circle Graphs

The two pie graphs below show categories of federal spend-
ing in the national budgets for 2000 and 2007. Look at the
graphs and answer the questions that follow.

Visit PearsonSchool.com/PHecon for additional math help.
Federal Spending, 2000 and 2007

2080 2007

Defense
Interest
Uther
Medicare/Medicaid
# Social Security

SOURCE: U.S. Senate and U.S. House Budget Offices

7. How did the percentage of federal spending on interest
payments change between 2000 and 20077

8. Which categories of federal spending have seen the
same peroemaqe increase since 20007
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Many econorists blame the huge U.S. national dabt for many
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Document B

“Within 12 years . . . the largest item in the federal budget

will be interest payments on tha national debt,” says
former U.S. Comptroller General David Walker. “They are]
payments for which we get nothing.”

Economic forecasters say future generations of
Americans could have a substantially lower standard of
living than their predecessors’ for the first time in the coun-

try’s history if the debt is not brought

under control.

Government debt, which fuels the risk of inflation, could
make everyday Americans’ savings worth less. Higher
n"ﬁ:evesi rates would malke it harder for consumers and
businesses o borrow. Wages wou!d remain stagnant and
fewer jobs would be created. The government’s ability to
provide a safety net would also be weakened,

S say.
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1 Dept: What the Nation’s Budget Woes |

You," Devin Dwyer, abonews.go.com
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Now and Later

Spend now, while the economy remains depressed;
save lgter, once it has recovered, How hard is that to

save lat
understand?

Very hard, if the current state of political debate is any
indication. All arcund the world, politicians seem deter-
mined to do the reverse. They're eager to shortchange
the economy when it needs help, even as they balk at
dealing with long-run budget problems.... Penny-pinching
at a time like this isn’t just cruel; it endangers the nation’s
future. And it doesn’t even do much to reduce our future
debt burden, because stinting on spending now threatens
the economic recovery, and with it the hope for rising
revenues.

ow and Later” by Paul Krugman from

ork Times, June 20, 2070
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